HLE

iz



7—1 ko

BFYRANVOT7FOVBERUT 1 ~4BFIZOWTEBBCTWET,

1 : EHEEEREY
 RORCH-THBEEERELTTEN
MNUSES | RERIVM | EBE (V)
VR25 |T7-T8 +10. 020
2:37kwh
RLIPORBTHLYYOX 7y MERBY, ZOMIRBESLEF v A
ST M) T—2BBIT D, COK, BEF ¥ RNVELH27FIOREBII~
HHETH, RORICTTED LB, TROBEBCTHELTTI W,
. X, BEF¥ANVICHTIREI—FEKXO00 (HEX) ¢,
FriVBE| MBS | BERIVE A (V)
0 VR 2 T17-T 9 0.0000
0 VR 1 CN1:21— 1 |®%1BE
1 VR 5 T17—T10 0. 0000
1 VR 4 CN1:23- 3 |%18E
2 VR 8 T17-T11 | 0.0000
2 VR 7 CN1:25— 5 |%18H
3 VR11 T17-T12 0. 0000
3 VR10 CN1:27— 7 |%18H8
4 VR14 T17-T13 0. 0000
™ 4 VR13 CN1:29— 9 K188
5 VR17 T17-T14 0. 0000
5 VR16 | CN1:31-11 |&12H8
6 VR20 T17-T15 0.0000
6 VR19 CN1:33-13 |%18H
7 VR23 T17-T16 0. 0000
7 VR22 CN1:35-15 |%18®8
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SOYL VEEBC. OIS E S E&F v RNVICHS
BEI—RERZFFF (HEX) ¢%,

NN
{+]

VEE| MUTEES | FERIVE | mmE (V)

VR 3 CN1:21- E3T

VR 6 CN1:23- R1ZH

1
3

VR 9 CN1:25- 5| ®R13H
7

VR15 CN1:29- 9 k188

VR18 CN1:31-11 ®K12R

VR21 CN1:33-13| %1328

-3
0
1
2
3 | VR12 | CN1:27- #18E
4
5
6
7

VRZ24. CN1:35-15| %12H

'CN1:33-13 | %138

CN1:35-15 ® 138
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H L oo F7Ev b (V) |74 (V) wyy—

+ 10.0V |—10.0000 |+9.9951 |0£2.44 (mV)
+ 5.0V (- 5.0000 |+4.9975 |0%1.22 (mV)
+ 2.5V |- 2.5000 |+2.4987 |0+610 (uV)
0-10. 0V 0.0000 |+9.9975 |0+1.22 (mV)
0— 5.0V '0.0000 |+4.9987 |0+610 (uV)
0-— 2.5V . 0.0000 |+2.4993 |0+305 (uV)

ER) ERiconT

FERAY P : Txx—TxxiEMGND &R+

(R—=FLlDFZX b - EVEE)

:CN1:xx—xxIZERGND /EHl+#

(7Y MIax 279 CN1DOVYEE)
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7T—2 FXb-EVEEX

P1

T16 T14 T12 T10
O O O O
O O O O
T15 T13 TS T11 TS
O
T7 4 T17
O O
= L\ I 1 —
2 Y
B SR T
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7—-3 PUT-BREX

VR 3 , :
VR11 VRS
VR 6 [ |
VR24
VR23 VR17T VR 8 [ ]
. L VRS VR2
VR21
_ VR12 [
ﬁvals
VR20 VR14 VR10 ] VR4
I D D D D
VR19 L] vris

1T o Oy

" VR22 VR16
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8—1 H¥>7n-7p¥SA
8—1—1 F¥RNO~TIZTZNV - ATF—NVTO=ZAKEHA
F—¥ - LYY 0~ T8 :

[EREFREREROERRERRE RO R R RR AR R R R R R R R R R R R R Rk k3 /

/% PVYME-323 SAMPLE PROGRAM %/
/% USE REGISTER DATA REGISTER 0-T %/
/% INTERNIX, INC ¥/
PE1123133212813223333228223222212332222222223232222E74
$include <stdio. b

#define BASE 0xfc4e0000

/=== %/

/% main %/

/=== %/

main{)

unsigned chaT ch;
unsigned short data, time;
unsigned long time;

time = Oxfff; /% weit time %/
onf); /% ¢h0-7 output enable %/
while (1)

{

for (i=0;i<4096;i+4)
{
for (ch=0;ch<8;ch++)

{
out (ch, data) ; /% c¢h0-T out %/
wait (time); /% wait %/
}
}
for (i=4096;i>0;i--)
{
for (ch=0:ch<8;ch+t)
{ .
out (ch, data) ; /% ¢h0-7 out %/
wait (time); /% wait %/

}
}
}
}
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on ()

{

unsigned char %cregl;

cregd = (unsigened char %) (BASE+0x19);

fcregd = 0x01; /% output enable %/
}

out (ch, data)

unsigned char ch:

unsigned short data;

{

unsigned short #dr0, #drl, ¥dr2, ¥dr3, ¥dr4, $dr5, *dr6, *dr7, #syr;
dr0 = (unsigned short #) (BASE+0x30); /% data register 0 %/

drl = (unsigned short %) (BASE+0x32); /% data register 1 %/
dr2 = (unsigned short #) (BASE+0x34); /% data register 2 %/
dr3 = (unsigned short %) (BASE+0x36); /% data register 3 %/
dr4 = (unsigned short #) (BASE+0x38); /% data register 4 #/
dr5 = (unsigned short #%) (BASE+0x3a); /# data register 5 %/
dr6 = (unsigned short #%) (BASE+0x3c); /% data register 6 %/
dr7 = (unsigned short #) (BASE+0x3e); /% data register 7 %/
syr = (unsigned short %) (BASE+0x40); /# synchronize register %/
data = (data & 0xO0fff); /% 12 bit nmask %/
switch (ch)
{
case 0:
$dr0 = data; break; /% channel 0 %/
case 1:
$drl = data; break; /% channel | %/
case 2:
- %dr2 = data; break; /% channel 2 %/
case 3:
%dr3 = data; break; /% channel 3 %/
" case 4:
- %dr4 = data; break; /% channel 4 %/
case §: .
: $dr5 = data; break; /% channel 5 %/
case 6:
$dr6 = data; break; /% channel 6 %/
case T:
$dr7 = data; break; /% channel 7 #/
case 8:
§syr = data; break; /% channel 0-7 %/
default:
printf ("¥n% ch number error”);
) '

}
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wait(time)
unsigned long time;

{
for (y=0;i<time;i+4)
{
)
}
off ()
{

unsigned char #cregl;
cregl = (unsigned char %) (BASE+0x19);

/% time count %/

fcregl = 0x00; /% out disable %/
}

[{-mm e ¥/

/¥ eof %/

[4--mmmmmm——-%/

#W:1) "—X -7 KURRBASEKRTLc4e0000BETLTNETDOT
77V -y aYiEADEHEERNE T,

2y wait () KX3EEIEVZE - Yz7—- - F14<0k. CEACRSZCPU
CEhERDETOT, 2—T—IKTHEEHRVE T,
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8—1-2 F¥ENO~TITINV+ AT—NVTO=ZARESN
yronFA4X - VIXBBRIER:

JREEERREERRERRRRRRRRRRRRRRRRRRRRF LR R PR 000 000 k05 %%/

/% PVME-323 SAMPLE PROGRAM %/
/% USE REGISTER SYNCHRONIZE %/
/5 INTERNIX. INC %/
/*****************************#*********************/
tinclude <stdio. h>

$define BASE Oxfc4e0000

/=== %/

/% main %/

/=== %/

main{)

unsigned char ch;
unsigned short data, time;
unsigned long time;

¢ch=8; - | /f synchronize channel %/
time = 0xfff; /% wait time %/

on{ ; /% ¢h0-T output enable %/
w?ile(”

for (data=0;data<4096;datat4)
{

out (ch, data) ;wait (time); /% ch0-T out & write wait &/

}
for (data=4096;data>0;data--)

{

out (ch, data) ;wait (time) ; /% ¢h0 out & write wait %/

}
}
}
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on ()

{

unsigned char #cregl;
cregd = (unsigened char %) (BASE+0x19);

scregl
}

= 0x01;

out (ch, data)
unsigned char ch;
unsigned short data;

{

/% output enable %/

unsigned short %dr0, #drl, #dr2, dr3, ¥dr4, #dr5, ¥dr6, $dr7, ¢syr;

dr0 = (unsigned short %) (BASE+0x30); /% data register 0 %/
dr! = (unsigned short %) (BASE+0x32); /% data register 1 &/
dr2 = (unsigned short %) (BASE+0x34); /% data register 2 %/
dr3 = (unsigned short %) (BASE+0x36); /% data register 3 %/
dr4 = (unsigned short %) (BASE+0x38); /% data register 4 %/
dr5 = (unsigned short %) {BASE+0x3a); /% data register 5 %/
dr6 = (unsigned short %) (BASE+0x3¢); /% data register 6 %/
dr7 = (unsigned short %) (BASE+0x3e); /% data register 7 %/
syr = (unsigned short #%) (BASE+0x40); /% synchronize register %/
data = (data & O0x0fff); /% 12 bit mask %/
switch (ch) '
{
case 0:
$dr0 = data; break; /% channel 0 %/
case 1:
$dr1 = data; break; /% channel 1 %/
case 2:
¥dr2 = data; break; /% channel 2 %/
case 3:
$#drd = data; break; /% channel 3 %/
case 4:
¥dr4 = data; bresk; /% channel 4 %/
case §: ,
¥dr5 = data; break; /% channel 5 %/
case 6:
¥dr6 = data; break; /% channel 6 %/
case T:
$dr7 = data; bresk; /% channel 7 %/
case 8: '
¥syr = data; break; /% channel 0-7 %/
default:
printf ("¥n% ch number error’);
}
}
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wait (time) v
unsigned long time;
{
for(y=0;i<time;i+4)
[

}
}

oft ()

{ ,

unsigned char %cregl;

cregd = (unsigned char %) (BASB+0x19);

/% time count %/

cregd = 0x00; /% out disable %/
}
[A==mmmmm e %/
/¥ eof %/
Y %/

H:1l) R=ZX - PFVREZBASEITfc4e0000kRESThTVETODT
TV ayab¥HEERVE T,

2y wait () KXZEBEEVIZE - Ix2P— - °DB,. ZHEAICRBZCPU
CEhERVETDC, 2—V—-IZTHEER VX,
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8—1-3 HEEE
1) out (ch, data) :&F¥RXNVO7FOl/HA
g :ch+ - - - F¥ X NVEBE T FP RNV
:FY RN
tFvY RNV
:FvYRIV
:F¥ RNV
P Fv RNV
tFY RNV
T Fv RV
Y nFAX (FYRNVO0—T) HHSA

ook WN=O
~NoOORhwWwNn=O

data- - - J—REREHE 12y  D/ALHBO—K
B OfE: 2L

TR EBENFYRINEBANE.  ch number error ” #Hn

2) on () : AL X—=T)
FlE® L
B OfE: =L

3)off () AT+ =N
FlE® 2L
R OfH:72L

4) wait (time) :VYZ7b D7 -HL7T—
SlEW : FEaLoy /RBK
B OfE: ==L
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